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Topic:­ General Studies

Identify the dibasic acid. / िҧ̶ारकी अ౫ को पहचािनए।

1. Hydrochloric acid / हाइड䙞� ोśो饅�रक अμ

2. Sulphuric acid / सхӬू饅�रक अμ

3. Nitric acid / नाइिट䙞�क अμ

4. Phosphoric acid / फॉଡ଼ो饅�रक अμ

Correct Answer :­

Sulphuric acid / सхӬू饅�रक अμ

Choose the appropriate articles for the given sentence:

He was ______ honourable man who did not give into ______ temptation of taking the cash.

1. an, a

2. a, a

3. an, the

4. the, the

Correct Answer :­

an, the

1. 
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2. 

3. 

4. 

Correct Answer :­

Choose the correct form of tense for the given sentence:

Drunken driving ______ many accidents.

1. was causing

2. causes

3. is causing

4. cause

Correct Answer :­

causes

1. 38

2. 36

3. 0

4. 12

Correct Answer :­

36

One angle of a cyclic quadrilateral measures 105°. What is the measure of its opposite angle? /

एक च奅�ीय चतुभु₴�ज के एक कोण की माप 105° है। इसके स౩ुख कोण की माप ̯ा होगी?

1. 105°
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2. 255°

3. 75°

4. 150°

Correct Answer :­

75°

The perimeter of a square plot is 36 sqm and another big square plot is 48 sqm. The owner wants
to have a single square plot of same area. What would be the length of the side of the single square
plot? / एक आयताकार भूखंड का प饅�रमाप 36 वग₴�मीटर एवं एक अӑ वगा₴�कार भूखंड का प饅�रमाप 48
वग₴�मीटर है। इनका ାामी समान ̶े̆फल वाला एक वगा₴�कार भूखंड अपनाना चाहता है। उस एक वगा₴�कार
भूखंड के िकनारे की लंबाई ̯ा होगी?

1. 12 m / 12 मी

2. 56 sqm / 56 वग₴�मीटर

3.  15m / 15 मी

4. 225sqm / 225 वग₴�मीटर

Correct Answer :­

 15m / 15 मी

शरीर, घड़ा और कु౧ का एक पया₴�यवाची कौन सा है?

1. घाट

2. घट

3. घड़ी

4. घन

Correct Answer :­

घट

PSLV and GSLV are: / PSLV एवं GSLV हḞ:

1. 2 launch vehicles of Indian Satellites / भारतीय उपĭहो ंके 2 ĸ̶ेपण वाहन (लांच щ हीकल)।

2. 2 important spacecrafts that India has sent to space / भारत ¸ारा अंत饅�र̶ मg भेजे गये 2 मह̆पूण₴� अंत饅�र̶
यान।

3. 2 satellites for telecommunication in India / भारत मg दूरसंचार के िलए 2 उपĭह।

4. 2 systems of satellites / उपĭहो ंकी 2 ĸणािलयाँ।

Correct Answer :­

2 launch vehicles of Indian Satellites / भारतीय उपĭहों के 2 ĸ̶ेपण वाहन (लांच щ हीकल)।
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2 launch vehicles of Indian Satellites / भारतीय उपĭहो ंके 2 ĸ̶ेपण वाहन (लांच щ हीकल)।

If x = 3, y = 4 and z = 3, then the value of x3 + y3 + z3 is _________. / यिद x = 3, y = 4 एवं z = 3 तब
x3 + y3 + z3 का मान ___________ है।

1. 118

2. 169

3. 216

4. 625

Correct Answer :­

118

Choose the correct form of expression to complete the sentence:

I must tell you about my ______ on my arrival in London.

1. incidents

2. event

3. experiences

4. expeditions

Correct Answer :­

experiences

Choose the correct form of expression to complete the sentence:

He received a large sum of money as ______ for his disability in the accident.

1. compensation

2. wages

3. allowance

4. reimbursement

Correct Answer :­

compensation



14)  

15)  

16)  

Choose the correct option for the given sentence:

There are two kinds of fats: _______ is saturated fats, the other is unsaturated.

1. one

2. first

3. foremost

4. firstly

Correct Answer :­

one

Who was the founder of Azad Hind Fauj? / आज़ाद िहंद फौज के संἅथापक कौन थे?

1. Subash Chandra Bose / सुभाष चंĵ बोस

2. Bhagat Singh / भगत िसंह

3. Chandrashekar Azad / चंĵशेखर आज़ाद

4. Captain Vikram Batra / कैΏन िवïम बjा

Correct Answer :­

Subash Chandra Bose / सुभाष चंĵ बोस

A car covers one‐fourth of the distance at 25 kmph and the remaining distance at double the speed.
If the total ܀me taken is 10 hrs, then find the total distance. / एक गाड़ी एक­चौथाई दूरी 25 िकमी/घѦा
पर तय करती है और बाकी दूरी दोगुनी चाल पर तय करती है। यिद िलया गया कुल समय 10 घѦे है, तो कुल
दूरी िनकािलये।

1. 100 km / 100 िकमी

2. 200 km / 200 िकमी

3. 300 km / 300 िकमी

4. 400 km / 400 िकमी

Correct Answer :­

400 km / 400 िकमी

If ROHIT is coded SPIJU, then how is MOHIT coded? / यिद ROHIT  को SPIJU से कोिडत िकया
जाता है, तो MOHIT को कैसे कोिडत िकया जायेगा?

1. NPIJU

2. LNGHS
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3. ZATTU

4. LPIJU

Correct Answer :­

NPIJU

When was the ‘Hindi Granth Academy’ in Bhopal established? / भोपाल म貉� “िहӄी 䘃ं�थ
अकादमी” की ἅथापना कब की गयी थी?

1. 1958

2. 1956

3. 1979

4. 1969

Correct Answer :­

1969

Propagation  of plants ,where a stem cutting of one plant is attached to the stem of another
plant which is planted in the ground  is called / पौधो ंका ̌सार, िजसम貉� एक पौधे के कटे तने को,
दूसरे उस पौधे के तने से जोड़ा जाता है जो िक ज़मीन म貉� लगाया गया है, ______ कहलाता है।

1. Vegetative propagation / वनହित ĸचारण

2. Tissue culture / ऊतक संवध₴�

3. Grafting / ĭा鵅�Ӧंग या कलम बांधने का काम

4. Layering / Эरण

Correct Answer :­

Grafting / ĭा鵅�Ӧंग या कलम बांधने का काम

सही िवक֮ का चयन कर貉� ।

1. देिहक

2. दैहीक

3. दएिहक

4. दैिहक

Correct Answer :­

दैिहक
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“̌ितिदन” म貉� कौन सा समास है?

1. अҐयी भाव

2. त̈ुħष

3. बîĺीिह

4. कम₴�धारय

Correct Answer :­

अҐयी भाव

Choose the appropriate prepositions for the given sentence:

David works ______ the field of network administration, while Marty works ______ web
designing.

1. in, of

2. on, at

3. at, for

4. in, in

Correct Answer :­

in, in

The following ques܀on is based on an encryp܀on system in which / िनԎ ̌ଋ एक एंि奅�ẍशन ̌णाली
पर आधा饅�रत है िजसम貉�

Complete the work is coded as Cue Lie Bet / Complete the work को Cue Lie Bet से कोिडत िकया जाता है
Give me work is coded as Lie Sat Pat / Give me work को Lie Sat Pat से कोिडत िकया जाता है 
Give to others is coded as Pat Ot Tha / Give to others को Pat Ot Tha से कोिडत िकया जाता है
Which word is coded as Pat? / Pat से िकस शӳ को कोिडत िकया जाता है?

1. Work

2. Give

3. Others

4. Complete

Correct Answer :­

Give
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During heavy exercise, we get muscle cramps in the legs due to accumula܀on of __________./
भारी ଁायाम के दौरान, ______ के संचयन के कारण, हम पैरो ंकी मांसपेिशयो ंम貉� ऐठंन महसूस करते
हḞ।

1. Carbon dioxide / काब₴�न डाइऑťाइड

2. Lac̾c acid / लै鵅�ōक अμ

3. Alcohol / एπोहल

4. Water / जल

Correct Answer :­

Lac̾c acid / लै鵅�ōक अμ

“पगड़ी उछालना” मुहावरे का ̯ा अथ₴� है?

1. खुशी से फूले न समाना

2. हँसी उड़ाना

3. अिवЌास करना

4. कलंक लगाना

Correct Answer :­

हँसी उड़ाना

“Faults” is the term used for __________. / “फॉẘ ट्स” एक पा饅�रभािषक शẐ द है जो ______ के
िलए ̌यु̤ होता है।

1. Expressing the intensity of earth quakes / भूकंу प की तीŀता Ґő करने

2. Waves generated by earthquakes / भूकंप से जिनत तरंगों

3. Drawbacks in electric wiring / िवद्यु त तारो ंके दोषों

4. Weak points along the boundaries of tectonic plates / िववत₴�िनक पिϱकाओ ंकी सीमाओ ंके साथ
कमजोर िबंदुओं

Correct Answer :­

Weak points along the boundaries of tectonic plates / िववत₴�िनक पिϱकाओ ंकी सीमाओ ंके साथ
कमजोर िबंदुओं

Topic:­ Prosthetics Technician

Which of the following is TRUE about ischial containment socket? / ̓ेिण संरोधन सॉकेट के
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Which of the following is TRUE about ischial containment socket? / ̓ेिण संरोधन सॉकेट के
बारे म貉� िन鵅�౫鵅�खत म貉� से ̯ा सҁ है?

1. Antero­posterior dimension bigger than mediolateral / अĭपЖэथ आयाम मҬपाЌ₴� से बड़ा है

2. Antero­posterior dimensión equal to mediolateral / अĭपЖэथ आयाम मҬपाЌ₴� के बराबर है

3. Mediolateral dimension bigger than antero­posterior / मҬपाЌ₴� आयाम अĭपЖэथ से बड़ा है

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Antero­posterior dimension bigger than mediolateral / अĭपЖэथ आयाम मҬपाЌ₴� से बड़ा है

Prosthetic cause of abducted gait in Transfemoral prosthesis is_____________. /
ट䙞� ांसफ़ीमोरल कृि̆मांग म貉�, अपवित₴�त चाल का कृि̆मांग कारण (̌ोἅथेिटक कॉज़ ऑफ़ ऐबड̡ेड गेट)
_____________ है।

1. High Lateral wall / उŵ पाЌ₴� दीवार

2. High anterior wall / उŵ अĭ दीवार

3. High medial wall / उŵ मҬ दीवार

4. Low lateral wall / िनη पाЌ₴� दीवार

Correct Answer :­

High medial wall / उŵ मҬ दीवार

Source of energy for externally powered prosthesis is______________. / बाहरी Čप से
श鵅�̤ ̌ाӚ कृि̆मांग का ऊजा₴� ̕ोत _______________ है।

1. Only batteries / िसफ₴�  बैिट䙞� यां

2. Only harness system / िसफ₴�  उपЧर ĸणाली

3. Only spring / िसफ₴�  कमानी (鵅�ୱंग)

4. All of the above / उपरोő सभी

Correct Answer :­

All of the above / उपरोő सभी

The socket which has anatomical suspension is______________. / संरचनाౄक सହ貉�शन
वाला सॉकेट _______________ है।

1. PTBSC / पीटीबीएससी

Joint with thigh corset / जाँघ कॉसĝट के साथ जोड़
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2. Joint with thigh corset / जाँघ कॉसĝट के साथ जोड़

3. PTB / पीटीबी

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

PTBSC / पीटीबीएससी

Anterior support strap is the part of________________. / अ䘃� सहायता पϱा (एंटी饅�रयर सपोट₴�
ମ䙞�ैप)________________ का भाग है।

1. Trans humeral prosthesis / ट䙞� ांसह्यू मेरल कृिjमांग

2. Trans radial prosthesis / ट䙞� ांस­रेिडयल कृिjमांग

3. Wrist disarticulation prosthesis / कलाई िवसंधीयन कृिjमांग

4. All of the above / उपरोő सभी

Correct Answer :­

Trans humeral prosthesis / ट䙞� ांसह्यू मेरल कृिjमांग

SACH foot refers to__________. / सैच फुट (SACH) ______________ को संदिभ₴�त करता है।

1. Soft Ankle Cork Heel / सॉӦ एंकल कॉक₴�  हील

2. Solid Ankle Cork Heel / सॉिलड एंकल कॉक₴�  हील

3. Solid Ankle Cushion Heel / सॉिलड एंकल कुशन हील

4. Soft Ankle Cushion Heel / सॉӦ एंकल कुशन हील

Correct Answer :­

Solid Ankle Cushion Heel / सॉिलड एंकल कुशन हील

The reason of lumbar Lordotic gait using Transfemoral prosthesis is_______________. /
ट䙞� ांसफ़ीमोरल कृि̆मांग के ̌योग से किट अ䘃�­कुӰता (लु֒र लॉडퟀ�िटक) चाल का कारण
________________ है।

1. Hip flexor weakness / कूБे के आकंुचक की कमज़ोरी

2. Hip abductor weakness / कूБे की अपवत₴�नी की कमज़ोरी

3. Hip extensor weakness / कूБे की ĸसा饅�रणी पेशी की कमज़ोरी

4. Hip adductor weakness / कोБे की अिभवत₴�नी की कमज़ोरी

Correct Answer :­

Hip extensor weakness / कूБे की ĸसा饅�रणी पेशी की कमज़ोरी
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Hip extensor weakness / कूБे की ĸसा饅�रणी पेशी की कमज़ोरी

The most common reason of amputation is___________. / िवϑेदन का सबसे आम कारण
_____________ है।

1. Trauma only / िसफ₴�  आघात

2. Infection only / िसफ₴�  संïमण

3. Peripheral vascular disease only / िसफ₴�  प饅�रधीय वािहका रोग

4. All of the above / उपरोő सभी

Correct Answer :­

All of the above / उपरोő सभी

The mechanical knee joint is located between______________. / यांि̆क घुटने का जोड़
(मैकेिनकल नी जॉइंट) _____________ के बीच 鵅�ἅथत होता है।

1. Adductor tubercle & medial tibial plateau / अिभवत₴�नी कंद एवं मҬ अΈजమिघका ӡैटो

2. Adductor tubercle & mid patella tendon / अिभवत₴�नी कंद एवं मҬ जा鵅�Ϋका कंडरा

3. Adductor tubercle & medial tibial flare / अिभवत₴�नी कंद एवं मҬ अΈजమिघका उ̃ेजन

4. All of the above / उपरोő सभी

Correct Answer :­

Adductor tubercle & medial tibial plateau / अिभवत₴�नी कंद एवं मҬ अΈजమिघका ӡैटो

In case of knee flexion contracture, trans­tibial prosthesis user will walk
in______________. / घुटने के आकुचन अवकंुचन की 鵅�ἅथित म貉�, ट䙞� ांसिटिबयल कृि̆मांग उपयोगकता₴�
______________ म貉� चलेगा।

1. Excessive lateral thrust of the knee / घुटने के अҁािधक पाЌ₴� ĸणोद

2. Absent knee flexion / अनुप鵅�эथत घुटने का आकुचन

3. Excessive knee flexion / अҁािधक घुटने का आकुचन

4. All of the above / उपरोő सभी

Correct Answer :­

Excessive knee flexion / अҁािधक घुटने का आकुचन
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For fabrication of standard transradial socket, what is the casting position to be maintained?
/ मानक ट䙞� ांस­रेिडयल सॉकेट की िवरचना के िलए, बनाए रखे जाने वाली का鵅�ମंग अवἅथा ̯ा है?

1. 45 to 60 degree flexion & neutral pronation/supination / 45 से 60 िडĭी आकुचन एवं उदासीन
अवतानन/उ̃ानन

2. 60 to 90 degree flexion & neutral pronation/supination / 60 से 90 िडĭी आकुचन एवं उदासीन
अवतानन/उ̃ानन

3. 90 to 120 degree flexion & neutral pronation/supination / 90 से 120 िडĭी आकुचन एवं उदासीन
अवतानन/उ̃ानन

4. 0 to 45 degree flexion & neutral pronation/supination / 0 से 45 िडĭी आकुचन एवं उदासीन
अवतानन/उ̃ानन

Correct Answer :­

45 to 60 degree flexion & neutral pronation/supination / 45 से 60 िडĭी आकुचन एवं उदासीन
अवतानन/उ̃ानन

The prosthetic foot having double joint is_______________. / दोहरे जोड़ वाला कृि̆म पैर
______________ है।

1. SACH foot / सैच पैर

2. Jaipur foot / जयपुर पैर

3. STEN foot / Ьेन पैर

4. Seattle foot / सीएटल पैर

Correct Answer :­

STEN foot / Ьेन पैर

Which one of the following is NOT a below knee gait deviation? / िनԎ म貉� से कौन सा घुटने
से नीचे चाल िवचलन नही ंहै?

1. Lateral trunk bending / पाЌ₴� Чंध झुकाव

2. Delayed knee flexion / घुटने का िवलंिबत आकुचन

3. Insufficient knee flexion / अपया₴�Ӛ घुटने का आकुचन

4. Lordosis / अĭ­कुӰता

Correct Answer :­

Lordosis / अĭ­कुӰता

Plaster of Paris (POP) is________. / ẍ लॉମर ऑफ पे饅�रस (पीओपी) ________होता है।
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1. gypsum  / िजп सम

2. hydrated gypsum  / हाइड䙞� ेटेड िजп सम

3. hemi­hydrated gypsum  / हेमी­हाइड䙞� ेटेड िजп सम

4. dehydrated gypsum / िडहाइड䙞� े टेड िजп सम

Correct Answer :­

hemi­hydrated gypsum  / हेमी­हाइड䙞� े टेड िजп सम

Stability depends on ____________. / 鵅�ἅथरता ____________ पर िनभ₴�र करती है।

1. Base of support only / िसफ₴�  समथ₴�न के आधार

2. Height of the object only / िसफ₴�  वЭु की लंबाई

3. Centre of gravity only / िसफ₴�  गुħ̆ाकष₴�ण कg ĵ

4. All of the above / उपरोő सभी

Correct Answer :­

All of the above / उपरोő सभी

The initial bench alignement of Syme’s prosthesis in sagittal plane is___________. /
समिमताध〡� तल म貉� साय౮ कृि̆मांग का ̌ारंिभक ब貉�च संरेखण ____________ है।

1. From AP center of the socket plumb line falls on to the mid foot / सॉकेट के एपी कg ĵ से साîल रेखा
मҬ पैर पर पड़ती है

2. From AP center of the socket plumb line falls on to the ankle / सॉकेट के एपी कg ĵ से साîल रेखा
घुटने पर पड़ती है

3. From AP center of the socket plumb line falls slightly anterior to posterior 1/3 rd of the foot /
सॉकेट के एपी कg ĵ से साîल रेखा पैर के हπे अĭ से पाЌ₴� 1/3 पर पड़ती है

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

From AP center of the socket plumb line falls slightly anterior to posterior 1/3 rd of the foot /
सॉकेट के एपी कg ĵ से साîल रेखा पैर के हπे अĭ से पाЌ₴� 1/3 पर पड़ती है

Medial thrust need to be observed during___________. / _____________ के दौरान मҬ
̌णोद का अवलोकन करने की आवଏकता है।

1. Foot flat / पैर सपाट (फुट ӭैट)

2. Midstance / मҬ अव鵅�эथित (िमडЬġस)

Heel off / एड़ी उठाना (हील ऑफ़)
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3. Heel off / एड़ी उठाना (हील ऑफ़)

4. Heel Strike / एड़ी की चोट (हील Ь䙞� ाइक)

Correct Answer :­

Midstance / मҬ अव鵅�эथित (िमडЬġस)

The main purpose of static alignment is_____________. / 鵅�ἅथर संरेखण का मु̈́ उౘेଏ
____________ है।

1. To check the fit of the socket only / िसफ₴�  सॉकेट के ठीक बैठने की जाँच करना

2. To check the length of the prosthesis only / िसफ₴�  कृिjमांग की लंबाई की जाँच करना

3. To check the quality of the suspension only / िसफ₴�  सହgशन की गुणव̃ा की जाँच करना

4. All of the above / उपरोő सभी

Correct Answer :­

All of the above / उपरोő सभी

The normal walking base between the heel centers should be approximately________. /
एड़ी के क貉� ̈ो ंके बीच सामाӑ चलने का आधार लगभग _________ होना चािहए।

1. 2 to 4 inch / 2 से 4 इंच

2. 2 to 8 inch / 2 से 8 इंच

3. 2 to 10 inch / 2 से 10 इंच

4. 2 to 12 inch / 2 से 12 इंच

Correct Answer :­

2 to 4 inch / 2 से 4 इंच

Initial toe­out during bench alignment is __________. / ब貉�च संरेखण के दौरान आरंिभक
पंजा­ἅथान̏ंश (इिनिशयल टो­आउट ) _____________ है।

1. 2­5 degrees / 2­5 िडĭी

2. 5­7 degrees / 5­7 िडĭी

3. 7­10 degrees / 7­10 िडĭी

4. 15 degrees / 15 िडĭी

Correct Answer :­

5­7 degrees / 5­7 िडĭी
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In Transtibial socket, the weight is beared more at______________. / ट䙞� ांसिटिबयल सॉकेट
म貉�, वजन ____________ पर अिधक सहा जाता है।

1. Shaft of fibula / बिहजమिघका के कूपक

2. Distal end of tibia / अΈजమिघका के दूरэथ छोर

3. Patella tendon / जा鵅�Ϋका कंडरा

4. Medial tibial flare / मҬ अΈजమिघका उ̃ेजन

Correct Answer :­

Patella tendon / जा鵅�Ϋका कंडरा

Control attachment strap is located on______________. / िनयं̆ण संल͏क पϱा (कंट䙞� ोल
अटैचम貉�ट ମ䙞�ैप) _____________ पर 鵅�ἅथत होता है।

1. Non­amputated side between the spine & inferior edge of scapula / रीढ़ की ह`ी एवं अंसफलक के
अवर िकनारे के बीच की गैर­अपंगता वाली ओर

2. Amputated side between the spine & inferior edge of scapula / रीढ़ की ह`ी एवं अंसफलक के अवर
िकनारे के बीच की अपंगता वाली ओर

3. Amputated side between the spine & superior edge of scapula / रीढ़ की ह`ी एवं अंसफलक के
उŵ िकनारे के बीच की अपंगता वाली ओर

4. Non­amputated side between the spine & superior edge of scapula / रीढ़ की ह`ी एवं अंसफलक के
उŵ िकनारे के बीच की गैर­अपंगता वाली ओर

Correct Answer :­

Amputated side between the spine & inferior edge of scapula / रीढ़ की ह`ी एवं अंसफलक के अवर
िकनारे के बीच की अपंगता वाली ओर

Systematic method of examining the amputee and his/her prosthesis is known as
__________. / अपंग ἁ य鵅�̤ (ऐԏुटी) तथा उसके कृि̆मांग का परी̶ण करने की ἁ यव鵅�ἅथ त िविध  __________
कहलाती है।

1. checkout procedure / चेकआउट ĸिïया

2. alignment procedure / संरेखण ĸिïया

3. fitting procedure / िफिटंग ĸिïया

4. clinical procedure / नैदािनक ĸिïया

Correct Answer :­

checkout procedure / चेकआउट ĸिïया
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Anterior trimline of the PTB socket is____________. / पीटीबी सॉकेट की अ䘃� छंटाईरेखा
(िट䙞� मलाइन) _____________ है।

1. Proximal ⅓ of Patella / जा鵅�Ϋका का ⅓ समीपэथ

2. Middle ⅓ of Patella / जा鵅�Ϋका का ⅓ मҬ

3. Distal ⅓ of Patella / जा鵅�Ϋका का ⅓ दूरэथ

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Distal ⅓ of Patella / जा鵅�Ϋका का ⅓ दूरэथ

The main purpose of control cable system is to_________. / िनयं̆ण केबल ̌णाली का मु̈́
उౘेଏ ___________ है।

1. Transmit the force only / िसफ₴�  बल संचा饅�रत करना

2. Excursion to the terminal device only / िसफ₴�  अंितम साधन तक ले जाना

3. Increase the force only/ िसफ₴�  बल मg वृ鵅�ౢ करना

4. All of the above / उपरोő सभी

Correct Answer :­

All of the above / उपरोő सभी

In case of oedema, amputee should do the____________. / शोफ की 鵅�ἅथित म貉�, अपंग
(ऐԏुटी) को ________________ करना चािहए।

1. Strengthening exercise / बलकारक Ґायाम

2. Stretching exercise / 鵅�खंचाव Ґायाम

3. Bandaging / पϱी बाँधना

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Bandaging / पϱी बाँधना

Prosthetic cause for lumbar lordosis is_______________. / लु֒र लॉरडोिसस का कृि̆मांग
कारण _________________ है।

1. High medial wall / उŵ मҬ दीवार

2. Low anterior trim line / िनη अĭ छंटाई रेखा (िट䙞� मलाइन)
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3. Low medial wall / िनη मҬ दीवार

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Low anterior trim line / िनη अĭ छंटाई रेखा (िट䙞� मलाइन)

The main function of transradial socket is to provide_____________. / ट䙞� ांस­रेिडयल सॉकेट
का मु̈́ काय₴� ______________ ̌दान करना है।

1. Comfort only / िसफ₴�  सुिवधा

2. Good force transmission only / िसफ₴�  अẅा बल संचारण

3. Use as much as residual limb movement only / िसफ₴�  अिधक से अिधक अविशЊ अंग गित का ĸयोग
करना

4. All of the above / उपरोő सभी

Correct Answer :­

All of the above / उपरोő सभी

The triangle shape of the Transtibial socket interface will prevent___________. /
ट䙞� ांसिटिबयल सॉकेट अҽरापृଜ का ि̆कोण आकार ____________ से बचाएगा।

1. Flexion of the prosthesis / कृिjमांग के आकुचन

2. Extension of the prosthesis / कृिjमांग के िवЭार

3. Rotation of the prosthesis / कृिjमांग के घुमाव

4. Breakage of the socket / सॉकेट के टूटने

Correct Answer :­

Rotation of the prosthesis / कृिjमांग के घुमाव

Elbow control strap is used for__________. / कोहनी िनयं̆ण पϱा (एׄो कंट䙞� ोल ମ䙞�ैप)
___________ के िलए ̌यु̤ होता है।

1. Lock & unlock the prosthetic elbow unit / कृिjमांग कोहनी इकाई को बाँधने और खोलने के िलए

2. Lock & unlock the prosthetic wrist unit / कृिjमांग कलाई इकाई को बाँधने और खोलने के िलए

3. Lock & unlock the prosthetic shoulder unit / कृिjमांग कंधे की इकाई को बाँधने और खोलने के िलए

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Lock & unlock the prosthetic elbow unit / कृिjमांग कोहनी इकाई को बाँधने और खोलने के िलए
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Lock & unlock the prosthetic elbow unit / कृिjमांग कोहनी इकाई को बाँधने और खोलने के िलए

In Transtibial socket, popliteal area gives counter force to stabilise________. /
अҽजమिघका सॉकेट म貉�, जानुपृଜीय ̶े̆ __________ को 鵅�ἅथर करने के िलए ̌ित­बल देता है।

1. Distal end of tibia / अΈजమिघका के दूरэथ छोर

2. Medial tibial flare / मҬ अΈजమिघका उ̃ेजन

3. Patella tendon / जा鵅�Ϋका कंडरा

4. Head of fibula / बिहजమिघका का शीष₴�

Correct Answer :­

Patella tendon / जा鵅�Ϋका कंडरा

An amputation through the radius & ulna is called as_____________. / रेिडयस और अẘना
के माҬम से िवϑेदन को _____________ कहा जाता है।

1. Transtibial amputation / ट䙞� ांसिटिबयल अंग­िवẅेदन

2. Transradial amputation / ट䙞� ांस­रेिडयल अंग­िवẅेदन

3. Transhumeral amputation / ट䙞� ांसह्यू मेरल अंग­िवẅेदन

4. Transfemoral amputation / ट䙞� ांसफ़ीमोरल अंग­िवẅेदन

Correct Answer :­

Transradial amputation / ट䙞� ांस­रेिडयल अंग­िवẅेदन

Quadriceps tendon is __________________. / चतुःिशरନ (̲ािड䙞� सेӤ) कंडरा ___________
है।

1. Pressure sensitive area / दबाव संवेदनशील ̶ेj

2. Pressure tolerant area / दबाव सहनशील ̶ेj

3. Hypersensitive / अितसंवेदनशील

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Pressure tolerant area / दबाव सहनशील ̶ेj

Ideal shape of the below­knee stump for fitting with PTB socket design will be________.
/ पीटीबी सॉकेट िडज़ाइन के साथ िफिटंग हेतू घुटने से नीचे के ἅ थूण (ἅ टẔ प) का आदश₴� आकार ________ होगा।
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1. cylindrical / बेलनाकार

2. bulbous / कंदाकार

3. conical / शंṨ वाकार

4. bony / अ鵅�эथल

Correct Answer :­

cylindrical / बेलनाकार

ISNY socket design used for above­knee amputees is a_____________. / घुटने से ऊपर वाले
ऐԏुटी के िलए इἅ तेमाल िकए जाने वाले आईएसएनवाई सॉकेट िडज़ाइन,  _____________है।

1. thermoplastic socket / तापसुघϴ सॉकेट

2. flexible thermoplastic socket  / नу य तापसुघϴ सॉकेट

3. thermoplastic socket in a rigid frame  / ṧढ़ ढाँचे मg तापसुघϴ सॉकेट

4. flexible thermoplastic socket in a laminated rigid frame / पटिलत ṧढ़ ढा◌ँचे मg नу य तापसुघϴ सॉकेट

Correct Answer :­

flexible thermoplastic socket in a laminated rigid frame / पटिलत ṧढ़ ढा◌ँचे मg नу य तापसुघϴ सॉकेट

Pressure tolerent area in Transtibial stump is____________. / अҽजమिघका ἅथूण (ମंप) म貉�
दबाव सहनशील ̶े̆ ____________________ है।

1. Interosseous membrane / अंतरा鵅�эथ िझ韚�ी

2. Gastrocenimus / परिपंिडका

3. Shaft of fibula / बिहजమिघका के कूपक

4. Patella tendon / जा鵅�Ϋका कंडरा

Correct Answer :­

Patella tendon / जा鵅�Ϋका कंडरा

In an ankle disarticulation prosthesis, the weight­bearing areas are_________. / टखने के
िवसंधीयन कृि̆मांग म貉�, वजन सहन करने वाले ̶े̆ _____________ होते हḞ।

1. Patella tendon only / िसफ₴�  जा鵅�Ϋका कंडरा

2. Distal end pad only / िसफ₴�  दूरэथ िसरे के पैड

3. Tibial flare only / िसफ₴�  अΈजమिघका उ̃ेजन

4. All of the above / उपरोő सभी
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Correct Answer :­

All of the above / उपरोő सभी

Terminal device is used to replace the _____________. / ______________ को ̌ितἅथािपत
करने के िलए टिम₴�नल िडवाइस का ̌योग िकया जाता है।

1. Missing part of the hand / हाथ के अनुप鵅�эथत िहିे

2. Missing part of the leg / पाँव के अनुप鵅�эथत िहିे

3. Missing part of the finger / ऊँगली के अनुप鵅�эथत िहିे

4. Missing part of the joint / जोड़ के अनुप鵅�эथत िहିे

Correct Answer :­

Missing part of the hand / हाथ के अनुप鵅�эथत िहିे

Energy storing foot is used for______________. / ऊजा₴� सं䘃�हण करने वाला पैर
____________ के िलए ̌यु̤ होता है।

1. A) Athlete only / िसफ₴�  एथलीट

2. B) Very high activity user only/ िसफ₴�  बîत उŵ गितिविध वाला ĸयोगकता₴�

3. C) Children with low activity only / िसफ₴�  िनη गितिविध वाले बŵे

4. D) Both A & B / दोनो ंA और B

Correct Answer :­

D) Both A & B / दोनो ंA और B

Patients with peripheral vascular disease have______________. / प饅�रधीय वािहका रोग (पे饅�रफेरल
वैନुलर िडजीज़) वाले रोिगयो ंम貉� _________________ होता है।

1. hard socket only/ िसफ₴�  कठोर सॉकेट

2. soft liner only / िसफ₴�  नम₴� अЭर (सॉӦ लाइनर)

3. gel liner only/ िसफ₴�  जैल अЭर (जैल लाइनर)

4. both Soft liner and Gel liner / दोनो ंनम₴� अЭर और जैल अЭर

Correct Answer :­

both Soft liner and Gel liner / दोनो ंनम₴� अЭर और जैल अЭर

The length of the TF stump is measured from________________. / टीएफ़ ἅथूण (ମंप)की
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The length of the TF stump is measured from________________. / टीएफ़ ἅथूण (ମंप) की
लंबाई ________________ से मापी जाती है।

1. Greater trochanter / बृह̃र िशखरक

2. Adductor longus tendon / ऐडōर लोगंस कंडरा

3. Medial wall / मҬ दीवार

4. Ischial tuberosity / आसना鵅�эथक कंद

Correct Answer :­

Ischial tuberosity / आसना鵅�эथक कंद

As per ISO Standards, socket is categorized as ______ component of a prosthetic device. /
आईएसओ मानको ंके अनुसार, सॉकेट को कृि̆मांग उपकरण (̌ोἅ थेिटक िडवाइस) के ______  संघटक के Čप म貉�
वग〡�कृत िकया जाता है।

1. interface / अंतरापृь ठ

2. functional / काया₴�ѝ मक

3. structural / संरचनागत

4. cosmetic / सौदंय₴�परक

Correct Answer :­

interface / अंतरापृь ठ

Single axis foot provides_____________. / एकल अ̶ पैर (िसंगल ए鵅�̺स फुट)
_______________ ̌दान करता है।

1. Dorsi flexion & plantar flexion / पृПीय आकुचन एवं पदतलीय आकुचन

2. Inversion & eversion / िवलोमन एवं बिहव₴�तन

3. Both A and B / दोनो ंA और B

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Dorsi flexion & plantar flexion / पृПीय आकुचन एवं पदतलीय आकुचन

What is the position of anterior trimline in Transhumeral single wall socket? /
ट䙞� ांसहय्ू मेरल एकल दीवार सॉकेट म貉� अ䘃� छंटाई­रेखा (िट䙞� मलाइन) की अव鵅�ἅथित ̯ा है?

1. Anterior to pectoral line / अंसीय रेखा से अĭ

2. Inferior to pectoral line / अंसीय रेखा से नीचे

Lateral to pectoral line / अंसीय रेखा के पाЌ₴�
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3. Lateral to pectoral line / अंसीय रेखा के पाЌ₴�

4. Follows pectoral line / अंसीय रेखा से पीछे

Correct Answer :­

Follows pectoral line / अंसीय रेखा से पीछे

In case of long transradial amputation, elbow hinges are used _____________. / लंबी
ट䙞� ांस­रेिडयल अपंगता की 鵅�ἅथित म貉�, कोहनी के कӰे ________________ के िलए ̌योग होते हḞ।

1. To prevent the rotation / घूण₴�न रोकने के िलए

2. To lock the elbow / कोहनी को अिभबंिधत करने के िलए

3. To prevent the elbow flexion & extension / कोहनी आकुचन एवं िवЭार से बचने के िलए

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

To prevent the rotation / घूण₴�न रोकने के िलए

What is the maximum depth of the Scarpa triangle in AK mold modification for a
medium stump? / मीिडयम ἅ टẔ प के िलए एके मोẘ ड मॉडीिफकेशन म貉� ନापा₴� ट䙞� ाईएंगल की अिधकतम गहराई Ṩ या है?

1. 6­10 mm

2. 15­20 mm

3. 25 mm

4. 30 mm

Correct Answer :­

6­10 mm

The height of the anterior wall in Transfemoral prosthesis from the ischial seat level
is____________. / ऊČअ鵅�ἅथ कृि̆मांग म貉� अ䘃� दीवार की ऊँचाई आसना鵅�ἅथ गౘी ଯर (इἅशीयल
सीट लेवल) से ___________ है।

1. 1.5 inch / 1.5 इंच

2. 3 inch / 3 इंच

3. 2 inch / 2 इंच

4. 3.5 inch / 3.5 इंच

Correct Answer :­
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2 inch / 2 इंच

In dynamic response foot, energy is stored at____________. / गितशील ̌िति奅�या पैर
(डायनािमक 饅�रହॉӓ फुट) म貉�, ऊजा₴� ___________ म貉� सं䘃�िहत होती है।

1. early stance phase / पूव₴� अव鵅�эथित चरण

2. terminal stance phase / अंितम अव鵅�эथित चरण

3. swing phase / दोलन चरण

4. double support / दोहरे समथ₴�न

Correct Answer :­

early stance phase / पूव₴� अव鵅�эथित चरण

The socket force in Symes prosthesis during push­off is _______________. / दबा कर
िनकालने के दौरान साय౮ कृि̆मांग म貉� सॉकेट बल _______________ होता है।

1. Antero proximal & Postero distal / अĭ समीपэथ एवं पЖ दूरэथ

2. Postero proximal & Antero distal / पЖ समीपэथ एवं अĭ दूरэथ

3. Proximal medial & distal lateral / समीपэथ मҬ एवं दूरэथ पाЌ₴�

4. All of the above / उपरोő सभी

Correct Answer :­

Antero proximal & Postero distal / अĭ समीपэथ एवं पЖ दूरэथ

Osseointegration is a suspension method whereby the prosthesis is connected
_____________. / हѐी एकीकरण (ओिसयोइҷी䘃े�शन) एक सହ貉�शन तरीका है िजसके ҧारा
कृि̆मांग को _______________ से जोड़ा जाता है।

1. Directly to the bone of the residual limb / सीधे अविशЊ अंग की ह`ी से

2. Directly to the muscle of the residual limb / सीधे अविशЊ अंग की पेशी से

3. Directly to the ligament of the residual limb / सीधे अविशЊ अंग के से

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Directly to the bone of the residual limb / सीधे अविशЊ अंग की ह`ी से

Neurovascular tract around the femoral triangle contains___________________. /
ऊČअ鵅�ἅथ ि̆कोण (िफमोरल ट䙞� ायंगल) के आसपास तंि̆का­वािहकीय माग₴� (ӑूरो वନुलर ट䙞� ै̡) म貉�
__________________ िनिहत होती हḞ।
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__________________ िनिहत होती हḞ।

1. Femoral vein, femoral artery and femoral nerve / ऊiअ鵅�эथ िशरा, ऊħअ鵅�эथ धमनी और ऊiअ鵅�эथ
तंिjका

2. Femoral vein, femoral artery and quada equana / ऊiअ鵅�эथ िशरा, ऊħअ鵅�эथ धमनी और मेħरźू

3. Femoral vein, femoral artery and cubital fossa / ऊiअ鵅�эथ िशरा, ऊħअ鵅�эथ धमनी और sुिबटल
फोିा

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Femoral vein, femoral artery and femoral nerve / ऊiअ鵅�эथ िशरा, ऊħअ鵅�эथ धमनी और ऊiअ鵅�эथ
तंिjका

Anterior distal socket discomfort of Transtibial prosthesis will lead to_________. /
ट䙞� ांसिटिबयल कृि̆मांग की अ䘃� दूरἅथ सॉकेट असुἅṽता __________ उీӋ कर सकती है।

1. Lateral thrust / पाЌ₴� ĸणोद

2. Medial thrust / मҬ ĸणोद

3. Too much knee flexion / बîत अिधक घुटने का आकुचन

4. Not enough knee flexion / अपया₴�Ӛ घुटने का आकुचन

Correct Answer :­

Not enough knee flexion / अपया₴�Ӛ घुटने का आकुचन

In case of transhumeral prosthesis, base plate retainer is located on ____________. /
ट䙞� ांसहय्ू मेरल कृि̆मांग की 鵅�ἅथित म貉�, आधार ӡेट ̌ितधारक ____________ पर 鵅�ἅथत होता है।

1. Proximal 1/3rd of Forearm / ĸकोП के समीपэथ 1/3

2. Distal 1/3rd of Forearm / ĸकोП के दूरэथ 1/3

3. Distal 1/3rd of arm / बाँह के दूरэथ 1/3

4. Proximal 1/3rd of arm / बाँह के समीपэथ 1/3

Correct Answer :­

Distal 1/3rd of arm / बाँह के दूरэथ 1/3

Reason for lateral trunk bending is ____________. / पाଔ₴� ନंधझुकाव (लेटरल ट䙞� ंक बे鵅�Ҽंग)
का कारण _____________ है।

The prosthesis height is too long / कृिjमांग की लंबाई बîत अिधक है
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1. The prosthesis height is too long / कृिjमांग की लंबाई बîत अिधक है

2. The lateral wall of the socket provide enough support / सॉकेट की पाЌ₴� दीवार पया₴�Ӛ समथ₴�न ĸदान
करती है

3. The socket is abducted / सॉकेट अपवित₴�त है

4. The amputee adductors are weak / अपंग के अिभवत₴�क कमज़ोर हġ

Correct Answer :­

The socket is abducted / सॉकेट अपवित₴�त है

Wooden SACH foot has_____________. / लकड़ी के सैच पैर (फुट) म貉� ____________ है।

1. Internal keel / आतं饅�रक नौतल

2. External keel / बाहरी नौतल

3. Both A and B / दोनो ंA और B

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

External keel / बाहरी नौतल

In chopart, amputation is performed through the ___________. / चोपाट₴� म貉�, अंग­िवϑेदन
________________ के माҬम से िकया जाता है।

1. Transmetatarsal / ट䙞� ांसमेटाटास₴�ल

2. Transphalangeal / ट䙞� ांसफेलgजीअल

3. Junction of tarsometatarsal joint / टासퟀ�मेटाटास₴�ल जोड़ के संगम पर

4. Midtarsal joint / िमडटास₴�ल जोड़

Correct Answer :­

Midtarsal joint / िमडटास₴�ल जोड़

Which wall of the quadrilateral socket represents the line of progression & should be
parallel to which plane? / चतुभु₴�जीय सॉकेट (ἆवािड䙞� लेट䙞� ल सॉकेट) की कौन सी दीवार बढ़त की रेखा
को दशा₴�ती है एवं िकस तल के समानांतर होनी चािहए?

1. Lateral wall, sagittal plane / पाЌ₴� दीवार, समिमताध〡� तल

2. Anterior wall, frontal plane / अĭ दीवार, अĭ­भागीय तल

3. Medial wall, sagittal plane / मҬ दीवार, समिमताध〡� तल
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4. Posterior wall, frontal plane / पЖीय दीवार, अĭ­भागीय तल

Correct Answer :­

Medial wall, sagittal plane / मҬ दीवार, समिमताध〡� तल

Push fit liner is used in case of ______________. / दबाने से ठीक जमने वाले अଯर (पुश
िफट लाइनर) _________________ की 鵅�ἅथित म貉� ̌यु̤ होते हḞ।

1. Transfemoral prosthesis / ट䙞� ांसफ़ीमोरल कृिjमांग

2. Knee disarticulation prosthesis / घुटने के िवसंधीयन कृिjमांग

3. Partial foot prosthesis / आंिशक पाँव कृिjमांग

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Knee disarticulation prosthesis / घुटने के िवसंधीयन कृिjमांग

The area of raw skin caused by rubbing between the prosthesis and the skin is called
as_______________. / कृि̆मांग और ҅चा के बीच की रगड़ ҧारा उీӋ कశी ҅चा के ̶े̆ को
_________ कहा जाता है।

1. Bursa / ĸपुटी

2. Abrasions / अपघष₴�ण

3. Bone spur / ह`ी Чंध

4. Scars / ̶त िचΨ

Correct Answer :­

Abrasions / अपघष₴�ण

Jaipur foot has_______________. / जयपुर पैर (जयपुर फुट) म貉� __________ है।

1. Short keel / छोटा नौतल

2. Long keel / लंबा नौतल

3. No keel / कोई नौतल नही ं

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

No keel / कोई नौतल नही ं

Foot rotates at heel strike because of_____________. / एड़ी की चोट पर पैर
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Foot rotates at heel strike because of_____________. / एड़ी की चोट पर पैर
____________________ के कारण घूण₴�न करता है।

1. Too soft heel cushion / अҁािधक नम₴� एड़ी तώ

2. Too hard heel cushion / अҁािधक कठोर एड़ी तώ

3. Too long prosthesis / अҁािधक लंबा कृिjमांग

4. Too short prosthesis / अҁािधक छोटा कृिjमांग

Correct Answer :­

Too hard heel cushion / अҁािधक कठोर एड़ी तώ

Which of the following suspension design is indicated for ML instability of Transfemoral
amputee? / िनԎ म貉� से कौन सा सହ貉�शन िडज़ाइन ट䙞� ांसफ़ीमोरल अपंग (ऐԏुटी) की एमएल अ鵅�ἅथरता
के िलए सूिचत है?

1. Joint with thigh corset / जाँघ कॉसĝट के साथ जोड़

2. Silesian suspension / साइलेिशयन सହgशन

3. Hip joint & pelvic band / कूБे का जोड़ एवं mोिण पϱी

4. Total Elastic Suspension / संपूण₴� नमनीय सହgशन

Correct Answer :­

Hip joint & pelvic band / कूБे का जोड़ एवं mोिण पϱी

While modification, material should be removed from__________. / संशोधन के समय,
साम䘃�ी को ___________________ से हटा देना चािहए।

1. Pressure sensitive area / दबाव संवेदनशील ̶ेj

2. Pressure tolerant area / दबाव सहनशील ̶ेj

3. End of stump / эथूण (Ьंप) के अंत

4. Bony prominences / ह`ी के उभारों

Correct Answer :­

Pressure tolerant area / दबाव सहनशील ̶ेj

Which suspension controls the rotation of the hip joint? / कौन सा सହ貉�शन कूḂे के जोड़
के घूण₴�न को िनयंि̆त करता है?

1. Silesian bandage / िसलेिशयन पϱी

Suction suspension / चूषण सହgशन
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2. Suction suspension / चूषण सହgशन

3. Pelvic band with hip joint / कूБे के जोड़ के साथ mोणीय पϱा

4. All of the above / उपरोő सभी

Correct Answer :­

Pelvic band with hip joint / कूБे के जोड़ के साथ mोणीय पϱा

Excessive lateral placement of foot may cause______________. / पैर का अҁािधक पाଔ₴�
ἅथानन _______________ उీӋ कर सकता है।

1. Excessive medial thrust of the prosthesis / कृिjमांग का अҁािधक मҬ ĸणोद

2. Excessive knee flexion / अҁािधक घुटने का आकुचन

3. Foot rotation / पैर का घुमाव

4. Foot slap / पैर की थपकी

Correct Answer :­

Excessive medial thrust of the prosthesis / कृिjमांग का अҁािधक मҬ ĸणोद

C.F. knee joint stands for_____________. / सी.एफ़. घुटने के जोड़ (सी.एफ़. नी जॉइंट) का
अथ₴� है ____________।

1. Constant friction / 鵅�эथर घष₴�ण

2. Controlled friction / िनयंिjत घष₴�ण

3. Continuous friction / िनरंतर घष₴�ण

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Constant friction / 鵅�эथर घष₴�ण

In TKA alignment of Transfemoral prosthesis, knee joint axis will be__________. /
ट䙞� ांसफ़ीमोरल कृि̆मांग के टी.के.ए संरेखण म貉�, घुटने के जोड़ का अ̶ ___________ होगा।

1. Anterior to the weight line / वजन रेखा का अĭ

2. Through the weight line / वजन रेखा के बीच से

3. Posterior to the weight line / वजन रेखा का पЖ

4. Medial to the weight line / वजन रेखा के मҬ

Correct Answer :­

Posterior to the weight line / वजन रेखा का पЖ
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Posterior to the weight line / वजन रेखा का पЖ

The amputee cause for instability of prosthetic knee joint is_______________. / कृि̆मांग
घुटने के जोड़ की अ鵅�ἅथरता का अपंग (ऐԏुटी) कारण ________________ है।

1. Weak hip flexors / कूБे के कमज़ोर आकंुचक

2. Weak knee flexors / घुटने के कमज़ोर आकंुचक

3. Weak hip extensors / कूБे की कमज़ोर ĸसा饅�रणी

4. Weak hip abductors / कूБे के कमज़ोर अपवत₴�क

Correct Answer :­

Weak hip extensors / कूБे की कमज़ोर ĸसा饅�रणी

Casting for very short residual limb, the North Western Supra­condylar suspension
socket should be done in elbow flexion at_____________. / ब�त छोटे अविशଙ अंग के िलए
का鵅�ମंग, उѶरी पिଇमी ऊपरी­कंदीय सହ貉�शन सॉकेट को कोहनी आकुचन म貉� _______________ पर
करना चािहए।

1. 80­90 degree / 80­90 िडĭी

2. 30­40 degree / 30­40 िडĭी

3. 90­120 degree / 90­120 िडĭी

4. 45­70 degree / 45­70 िडĭी

Correct Answer :­

80­90 degree / 80­90 िडĭी

Muenster socket is designed for very short _______. / ౪ुएӔर सॉकेट ब�त छोटे
_________________ के िलए Čपरे鵅�खत हḞ।

1. Transhumeral amputee / ट䙞� ांसह्यू मेरल अपंग

2. Transtibial amputee / ट䙞� ांसिटिबयल अपंग

3. Transradial amputee / ट䙞� ांस­रेिडयल अपंग

4. All of the above / उपरोő सभी

Correct Answer :­

Transradial amputee / ट䙞� ांस­रेिडयल अपंग
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The socket force in Transfemoral prosthesis during heel strike to foot flat is at___________. /
एड़ी की चोट से सपाट पैर तक के दौरान ट䙞� ांसफ़ीमोरल कृि̆मांग म貉� सॉकेट बल ____________ है।

1. Anterior proximal & Posterior distal / अĭ समीपэथ एवं पЖ दूरэथ

2. Posterior proximal & Anterior distal / पЖ समीपэथ एवं अĭ दूरэथ

3. Medial proximal & Lateral distal / मҬ समीपэथ एवं पाЌ₴� दूरэथ

4. None of the above / उपरोő मg से कोई नही ं

Correct Answer :­

Anterior proximal & Posterior distal / अĭ समीपэथ एवं पЖ दूरэथ

Myoelectric prosthesis is controlled through________________. / मायोइले鵅� 䙞̡�क कृि̆मांग
_________________ के माҬम से िनयंि̆त होता है।

1. Rubber band / रबर बġड

2. Muscle impulse / पेशी आवेग

3. Control cable system / िनयंjण केबल ĸणाली

4. All of the above / उपरोő सभी

Correct Answer :­

Muscle impulse / पेशी आवेग

Manual knee lock prosthetic knee joint is used in case of____________. / हଯरे鵅�खत घुटने
के बंधन वाले कृि̆मांग (मैӑुअल नी लॉक ̌ोἅथेिटक) घुटने के जोड़ _____________ की 鵅�ἅथित म貉�
̌योग िकये जाते हḞ।

1. A) Good muscle strength only / िसफ₴�  उ̃म पेशीय ताकत

2. B) Poor muscle strength only/ िसफ₴�  खराब पेशीय ताकत

3. C) Elderly amputee only / िसफ₴�  बुजुग₴� अपंग (एϋल〡� ऐуӠुटी)

4. D) Both B & C / दोनो ंB और C

Correct Answer :­

D) Both B & C / दोनो ंB और C

Cross Bar Assembly is attached to the____________. / 奅�ॉस­बार अस貉�बली ______________
से संल͏ होती है।

1. Biceps pad / ि¸िशरЧ पैड

Flexible forearm loop / नमनीय ĸकोП पाश
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2. Flexible forearm loop / नमनीय ĸकोП पाश

3. Triceps pad / िjिशरЧ पैड

4. All of the above / उपरोő सभी

Correct Answer :­

Triceps pad / िjिशरЧ पैड

Figure 9 harness is used to________. / आकृित 9 उपନर (हान�स) _______________ के िलए
̌यु̤ होती है।

1. Suspend the prosthesis / कृिjमांग को िनलंिबत करने के िलए

2. Operate the terminal device / अंितम साधन को संचािलत करने के िलए

3. Operate the elbow unit / कोहनी इकाई को संचािलत करने के िलए

4. All of the above / उपरोő सभी

Correct Answer :­

Operate the terminal device / अंितम साधन को संचािलत करने के िलए


